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NO. 1+6. 8

GH=9. 585
FH=9. 585

DL=5. 00
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Bt - —|m2
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SRR - -|m
PR 2.00| 0.70 [ m
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~No. 1+5. 0

DL=5. 00

No. 0~No. 0+0. 1

DL=5. 00

TR

TS !
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GH=9. 472
FH=9. 554
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A 0.14 | m2
Bt 0.31 [m2
SRR (F1ER) 1.10 | m
KIEY 0.24 | m2
HRL 0.20 | m2
SRR RS -|m
PR 0.70 | m
TREEIE 0.70 | m
=RE 1.50 | m
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A 0.12 | m2
Bt 0.16 |m2
SRR (B E) 0.65 | m
RigY 0.23 |m2
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PR 0.70 | m
RIEEE 0.70 | m
eI 1.50 | m

NO. 2
HEHI 0.12 | m2
Bt 0.08 [ m2
SRR (F1ER) 0.44 | m
RigY 0.22 | m2
HRL 0.20 | m2
SHLE R -|m
PR 0.70 | m
RIERE 0.70 | m
eI 1.50 | m
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